O

O




N=N_,N_,...Ng.N,N,... N

-m

(N) = %NW+ZNW S N.R

i=n-1

R R! i




(

)

m
2 NiR
i=n-1
(101.101), = 1X 22+ 1X 20+ 1 X 21+ 1X23=(5.625),,
(25.7)y=2 X81+5 X89+7 X81= (214),,

(5A.C);s =5 X 16"+ 10 X160+ 12 X167 = (902—)10




()




1 N = (357)4

21357 ...... 1
21178 ...... 0
2189 ...... 1
2144 ...... 0
222 0
2111 1
215 1
212 ...... 0
2|11 ... 1
0

. (357),,=(101100101),



2 N=(355),,

8355 ...... 3

8|44 ... 4

8|5 ... 5 L
0

(355) 0= (543)g

3 N=(357),
16| 357 ...... 5
16|22 ... 6

161 ...... 1 It

0 (357)10= (165) 46



()




1

N = (0.385),,

(TR

(&AL

(0.385) =

. 13852

1.

[7><2

0
0.
1. |94><2
1.
0
0
0

08><?2
16><2
32><?2

04><?2

28

(0.0110001),



2 N=(0.385),,

0.[385X8
108 RS

0.[64X38

5.112
A

(0.385),, = (0.305),




()

#i4m: (100101.101), = (45.5), = (25.A),5
(0.011000101), = (0.305), = (0.628),,




()

(45.5),=(100101.101),
(25.A),,=(00100101.1010),







0=
(1 )
_2- o
'
1
_2-n

| 0=
-(2"-1 b= :
b
=2
-1
n+1

0=
N=2"*-1




258.69 = 101=<25.869
= 102 %<2.5869
= 10-1 <x2586.9
= 10-2 x25869




2
0= N =2@-9(1-2)
-20@MD(1-2M=N=2("D(1-21)

0.1xX...X




1.0xX...X

00.0xx...x  11.1xX...X




: +1010 — 01010
-1010 — 11010




x:1011,-1011,0.1011,-0.1011
[x] :0,0001011;1,0001011;
0.1011000;1.1011000




(1) n N n

-(2n-1)=N=2"-1

(2) n N n
-(1-2"M)=N=<1-2"




2
56-24=32: 56+76=132

e 100:
M mod

. 56-24=56+76(mod 100)
e -2 100 76

. [X] = M+X mod M)




* : X :Xn Xn-l Xn-2 ""Xl XO

. IX] =X X X, X X
(1)
+1011 01011 01011
: 1,
1
-1010; -0.1010

10110; 1.0110




(2)

. :[X] =0010[X] =0010 X=010=10

. :[X] =10110:
[X] =11010; X=-1010




(1) n N .

2= N=2"-1

(2) n N .
-1= N=1-2"




:[X] =01010 [X] =01010

- [X] =11010 [X] =10101




(1)

I N

-1 2(2'-1)< N<2(2|-1)(1_2-n)




E=8 ,M=24 2

e —

0
. . 92° 1%(1-2-M)= 2127%(1-2-23)
° : 2'28*2-m — 2-128*2-23
° : _2-26*2-m — _2-128*2-23

:(_1)* 226-1 —_2127

_2127 < N < 2127* (1_2-23)

2€ 2¢€
2% 1l=N= 2°x(1-2m)



(2) (

)
12 4 , 8 (
J ) ('
101.011), ( )
(-101.011),=-0.101011*2+3 1.0101010
0,011
Ms |E | m

1 10011 | 0101010
1, 0011, 0101010




O 0100 0101010

1 0
0O 0011 1010100




E=4 (e=3) M=8 (m=7)

| | | |
| | 0 | |

A% 2 _1jgxp - 2 1/9wp % 1#2 21
: 1/2*2 <N < 1*2 2>

21000%0 10...0 = N =< 20111*0,11...1
- 12 Pl N < -1/2%2 " 2
1.0...0% 20111 < N < 21000+ 10...0




E=7
e -64 0 63
e 0 64 127
1.
n+1
-2N~+(2"-1) X

IX] =2"+x -2"=x =2"-1




1 0
1
2 x<0 [X] 0
x=0 [X] 1
3 [x]  [X]

4 0 100...0




N

[X]

E<-2"

0

0

NEVB=E
NE

(M=0 or M>%0)

(11 O”

M

0

O”



IEEE 754
IEEE754

1
2
3
4

S E
32 E=8 M=23
F=11 M=31
64 E=11 M=52



32

E=0 M =0 N 0
E=0 M=0 N ] 2E 0
0<E <255 N ] ZE_127(1.|\/|)

E =255 M=0 N

S

E=255 M=0 N _1 0




32

IEEE 754

127
+127

IEEE 754

32
1.M

1 254

a/0(a==0)

24

-126

0/0



1 IEEE /754 32
CC968000 44

1 10011001 00101101000000000000000
=(153) 10 -(127) 10 =(26 49

. = 1+0.00101101= 1.00101101
= (1.17578125
. = -226 %(1,17578125




2 011 , IEEE754
 (-0.11),=-0.11*20=-1.1*21= -  1+0.1)*2-

. = +127=-1+127=126 =(01111110),,

: :1,01111110,100...0




ASCII

O
O
O
O

ASCII 1/0




C C
10101010 10101010 O 10101010 1
01010100 01010100 1 01010100 O
01111111 01111111 1 01111111 0O




	第二章  数据信息表示

